Efficiency vs P,

- 0.2
o
20.18

>
20.16
)

e

0.12
0.1

0.08F
0.06F
0.04F
0.02F

0.14F

................................................

................................................

................................................

...............................................

1.0

Ratio

107 1 10 prT (Ge\})o3

—— I ] —_Global_mKFET

—e— DQM_V0001_R000000001__Global__mkFitN
—— DQM_V0001_R000000001__Global__mkFitN
—— DOQM_V0001_R000000001 _Global __mkFitN

riginal__RECO
ewDett_ RECO
ewDett33_ RECO
ewDetNoF _RECO

= 0.2
2
20.18
2
§0.16
o
£0.14
(]

0.12

0.1

0.08
0.06)
0.04
0.02

L 0OF

..............................................

............................................

Ratio
N

0.95

Efficiency vs ¢

s 0.1
4
20.09
2
) 0.08]
(S}
£0.07
(]
0.06]
0.05
0.04
0.03]
0.02
0.01

..........................................

1.0

Ratio

too _L'.'.'.|.'.'=‘-.'-.'-.‘-.§'-.‘1—.‘E".'.'.|.'.'.'.'.!J.'.'.'.!.'.'.'.'!.'.'.'.'{.'.'.'.'{.'.'.'.'

||'-|||

TP @




	Contents
	Page 1


